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2 B R —X 38 40 78 11.7 66.3 300
H2hH K% R 38 37 75 6.3 68.7 200
313 A0 EX 40 37 77 8.1 68.9 150
A3 JIIR  BA 44 36 80 10.8 69.2 70
541 & IL1T 43 35 78 8.1 69.9 60
64z TR #WMR 40 38 78 7.2 70.8
741 A& &ih 40 39 79 8.1 70.9 50
8L BmA =R 50 44 94 22.5 71.5
2 BX KA 40 37 77 5.4 71.6
104z ik BRI 38 44 82 9.9 72.1 50
1141 El RE 42 35 77 4.5 72.5
124 hE & 41 36 77 4.5 725
1341 M RAXER 40 39 79 6.3 72.7
1441 MZE  F=RER 43 46 89 16.2 72.8
154 x5 IE® 53 48 101 27.9 73.1
1641 i = 44 42 86 12.6 73.4
174 Rk HH 49 51 100 26.1 73.9
1841 e EB 48 47 95 20.7 74.3
194 RIS HE 44 41 85 9.9 75.1
201 BH IET 46 40 86 10.8 75.2 30
21431 RIR Al 49 46 95 19.8 75.2
2241 ik HEA 45 42 87 11.7 75.3
23 fiBE EA 47 41 88 12.6 75.4
24431 B\H R 42 46 88 12.6 75.4
2541 WE £ 41 43 84 8.1 75.9
2611 HE R 44 49 93 17.1 75.9
2741 BH FEX 44 50 94 18.0 76.0
281 AR FRiE 44 44 88 11.7 76.3
29431 WE IEA 42 48 90 13.5 76.5
304z KA #H— 49 45 94 17.1 76.9 30
314 A0 =& 44 42 86 9.0 77.0
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331{iz R & 44 45 89 11.7 77.3
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361 XS #HAE 51 48 99 17.1 81.9

371 #HA 158 49 46 95 11.7 83.3

BBE /N 51 43 94 9.9 84.1 60
391{iz FH BE 51 60 111 14.4 96.6
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